COX,Y)={f|f:X DY 1
1 f,geC(X,Y)

H:XxI->Y vxe X,H(x,0)= f(x),H(x,1) =g(x)
f g f=g: X->Y f=g H
H
f g H:f=g f=g
h=HXt):X->Y H t-
1 f,geC(X,E") H:XxI—>E"
H(x,t)=Q1-t)f(x)+tg(x) H f g
1 E"
2 f,geC(X,S") vxe X, f(x)=-g(x)

HiXxl 5E" H(xt)= o DT +10()
| T @-0 1) +tg ()]



3  f,geC(X,S) vxe X, f(x)=-g(x)

f g H H(x,t) =e" - f(x)
1 C(X,Y)
f eC(X,Y)
H(x,t)=f(x),vxe X,tel H:f=f
H:f=g
G(x,t)=H(x,1-t),vxe X,tel G:g=f

H:f=g G:g=h F: XxI—>Y

H(x,2t),t [0, 3]
F(x,t) = 2 F:if=h
G(x,2t-1)te [%,1]

C(X,Y)
[X. Y] IXYI=A{[f]] f eC(X,Y)}
4 X {x} CH{x}Y) VY
f>f(x) VyeY fy y
fy, Ty, i Y2
2 fo=f: X>Y,0p=0,1Y > Z
Joofo=01of: X >Z
F:fo=1,G:0,=0;

H:Xxl>Yxl H(xt)=(F(x1),t)



GoH:ggofy=0;0f;

f f
5 X E" idy : X > X e X
X idy =e Y
f: XY, f=Ffoid, =foe foe f
2 Ac X f,9eC(X)Y) f g
H:XxIl>Y acA H(a,t)=f(a)=g(a)
Viel f g A f=g relA H
f g A H:f=grelA
H
f=grelA
XY f: XY
g:Y > X fog=1,90f =1y X Y
X Y X =Y

6 R"=R"(VYm,neZ)



